Code: 18CE0118 R18
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech III Year I Semester (R18) Regular Examinations Feb/Mar 2021
ESTIMATION, COSTING AND VALUATION

CIVIL
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(a) Enumerate any eight items of estimate of a building. 2M

(b) Write Prismoidal formula for calculating quantity of earth, for two sections Al and A2 which 2M
are separated by a distance or length L.

(c) What are percentage of steel of concrete in general in different types of RCC members? 2M
(d) List various expenses that comes under overhead costs. 2M
(e) Whatis the purpose of valuation? 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2 Write brief note on following main items of work (a) Earthwork (b) Concrete in foundation (¢) 10M
Damp proof course (d) Masonry (e) Plastering
OR
3. Estimate the quantities of the following items of a two roomed building from the given plan 5M

and section. The general specifications are as follows: (a) Earthwork in exaction in foundation,
(b) Lime concrete in foundation (c) 1t class brickwork in cement mortar in foundation and
plinth (d) 2.5 cm cement concrete damp proof course, and (e) 1+ class brickwork in lime mortar
in super structure. Adopt Long Wall Short Wall method.
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UNIT - II
4. Write a detailed note on different methods of estimating earthwork in construction. 10M
OR

5. Detailed dimensioned sketch cross-section of a city street having mettled portion of 8 m 10M

for the carriageway is shown in figure. Prepare a estimate for constructing 500 m length
of this street. Indicate also quantities of materials.
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UNIT - III
6. Prepare a schedule of bars for the RCC lintel shown in figure assuming bearing of the 10M

lintel be 15 cm on walls at each side. Weight of 100 mm dia bar = 0.62 kg/rm and 6 mm
dia bar = 0.22 kg/rm.
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2. The following figure shows the longitudinal section & cross section of a simple beam of 10M

clear span 5.0 m. The thickness of support wall is 300 mm. Workout the total quantity
of the reinforcement in the beam. Also prepare the bar bending schedule.
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UNIT - IV
8. Work out rate per cu.m for RCC work in beams and slabs with 1:1%2:3 cement concrete.  10M
OR
9. (a) Prepare rate per cu.m for exaction over are for a basement in hard soil, depth 1.5 m 5M
and removing the material through a distance of 50 m.
(b) Prepare rate per sq.m for laying Mosic or Terrazo title floor. 5M
UNIT -V
10 (a) Write detailed specifications for white washing and colour washing. 5M
(b) Mention detail specifications for doors and windows. 5M
OR

11 What are different specifications for first class brick work. 10M
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Code: 18HS0812 R18
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech Il Year [ Semester (R18) Regular Examinations Feb/Mar 2021
MANAGERIAL ECONOMICS AND FINANCIAL ANALYSIS

(EEE & CSF)
Time: 3 hours Max.Marks: 60
| PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(@) Define Managerial Economics. 2M
(b) What is Opportunity cost? 2M
() What is Monopolistic competition? M
(d) What is Working capital? 2M
(e) Whatis a Trial balance? 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT - I
2, What is Elasticity of demand? Explain the different types of Elasticity of Demand. 10M
OR
3. (a) Define the law of demand and what are its exceptions? 5M
(b) Discuss the various techniques of demand forecasting. 5M
UNIT - 11
4. Define ‘Cost’. How are costs classified? Explain any five important cost concepts 10M
that are useful for managerial decisions.
OR
5. What are the limitations and uses of Break-even analysis chart? 10M
UNIT - II
6. Explain how price is determined under perfect competition. 10M
OR
7. Define Oligopoly and state its features in detail. 10M
UNIT - IV
8. Discuss the different methods of capital budgeting. 10M
OR
9. The cost of a project is Rs.100,000 which has an expected life of 5 years. The 10M
expected cash inflows for the next 5 years are Rs.30, 000; Rs.34, 000; Xs.20,000;
Rs.15000 and Rs.16,000 respectively. Determine the Payback period of the project.
UNIT -V
10. (a) Write about various types of accounts and their rules governing each account. 5M
(b) Explain briefly about various types of ratios. 5M
OR
11 A firm sold goods worth Rs.5,00,000 and its gross profit is 20% of sales value. The  10M

inventory at the beginning of the year was Rs. 16,000 and at the end of the year
were 14,000.Compute inventory turnover ratio and the inventory holding period




Code: 18HS0860 R18
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech III Year I Semester (R18) Regular Examinations Feb/Mar 2021
Supply Chain Management
(Mechanical Engg.)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(a)  What is Amalgamation of Shipment? 2M
(b) What is worldwide sourcing? 2M
(¢) Define Transit Time. 2M
(dy What is Revenue Management? 2M
() Define supply chain process. 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. What is outsourcing of distribution logistics? Explain reasons for outsourcing. 10M
OR
3. (a) What is supply chain management? Explain its evolution. SM
(b) How do you test supply chain performance? SM
UNIT - 11
4, What is worldwide sourcing? Explain its significance in supply che.a 1OM
management.
OR
5. Distinguish between Market Vs Hierarchy with examples. 10M
UNIT - I
6. (a) Explain detailed about the influencing options. 10M
(b) How would you prove network designing is important for organizations?
OR
7. (a) What is the significance of facility and location? 10Mm
(b) How does decisions making helps in Supply Chain Performance?
UNIT -1V
8. What is uncertainty? How do you identify uncertainty in the supply chain? 10M
Explain.
OR
9. (a) Whatis product life cycle? Explain its process. SM
(b) Define risk pooling with suitable examples. M
UNIT -V
10. (a) Explain the current trends in SCM. M
(b) Explain supply chain current nature and scope. M
OR

1. Examine the reasons underlying supply chain failure in India. 10M




Code: 18CS0510

Time: 3 hours
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SIDDARTHA INSITI'UTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech III Year I Semester (R18) Regular Examinations Feb/Mar 2021
Operating System
(CSE)

PART-A
(Compulsory Questions)
Answer the tollowing; (5 X 2 = 10 Marks)

What is an Operating system?.
What are the types of scheduler?
Define race condition
Mention few Page Replacement Strategics.
Define UFD And MFD

PART- B

(Answer all five units, 5 x 10 =50 Marks)

UNIT -1

Define Operating System and explain the various types of Operating Systems?
OR

Explain difference between Multitasking and Multi Programming?
Explain briefly User and Operating System Interface

UNIT - II
Consider 3 processes P1, P2 and P3, which require 5, 7 and 4 time units and arrive at time
0, 1 and 3. Draw the Gant chart, process completion sequence and average waiting time
for. (i) Round robin scheduling with CPU quantum of 2 time units. (ii) FCFS.
OR
Write the difference between user level thread and kernel level thread?

What is synchronization? What are the ditterent synchronization mechanisms? Explain in
detail.
UNIT - III
What are the methods for handling deadlock.
Write aboul deacllock and starvation?
OR
Write about Deadlock Prevention Methods?
UNIT -1V
Discuss aboul page replacement algorithms with example
OR
What is virlual memory? Discuss the benefits of virtual memory techniques.
Write a short notes on Disk management.

UNIT -V
Discuss about File type

Explain about File operation.

OR
Explain about bit vector and T.inked list free space management Technique

R18/SS

Max.Marks: 60
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Code: 18ME0312 R18
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech III Year I Semester (R18) Regular Examinations Feb/Mar 2021
CAD/CAM
(MECH)
Time: 3 hours Max. Marks: 60
PART-A
(Compulsory Questions)
l. Answer the following; (5 X 2 = 10 Marks)

(a) Why should we go for CAD? 2M
(b) What are the Fundamentals of solid modeling M
(c) What are all the problems encountered with NC system 2M
(d) What is FMS? 2M
(e) Define the MRP-I and MRP-11. M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2 Briefly explain the term scaling, translation and rotation used in Graphics. 10M
OR
3. (a) Draw the product cycle and CAD/CAM product cycle with neat sketch M
(b) List the Evaluation criteria CAD standards 5M
UNIT - 11
4. Explain the Constructive Solid Geometry (CSG) method to create models. 10M
OR
5 Explain detail surface modeling and their representation. 10M
UNIT - II1
6. (a) Listout and Explain about basic components of an NC system and CNC system. M
(b) Briefly explain about NC Coordinate systems. 5SM
OR
7. (a) Explain cutter radius compensation , length compensation and canned cycles With 10M
neat sketch
UNIT - 1V
8. Explain the various contact inspection method 10M
OR
9. (a) Explain briefly optical non-contact inspection methods SM
(b) Explain detail about Machine cell design 5M
UNIT -V
10. (a) Explain the Generative CAPP type system with neat sketch. M
(b) Write Short notes on MRP-II and advantage and dis advantage SM
OR
11, Explain the Retrieval type system with neat sketch and explain the Benefits of 10M

CAPP?




Code: 18CS0515
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech III Year I Semester (R18) Regular Examinations Feb/Mar 2021

COMPUTER NETWORKS
(CSE)

Time: 3 hours

(]

(a)
(b)
(c)
(d)
(e)

(a)
(b)

(a)
(b)

(a)
(b)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
List the layers in OSI reference model
State the use of forward error correction
Define spanning tree.
Give the Use of multiplexing.
Label the types of messages in HTTP transaction.
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain in detail about TCP /IP Network model
OR
Describe about various network types
Illustrate the architecture of Internet
UNIT - 11
Classify Various CSMA/CA protocols.
OR

Generalize the Controlled access protocols which are used in MAC sublayer.

UNIT - III
Calculate the Shortest Path Algorithm considering an example.

Explain Flooding.
OR
Sketch and explain in detail about IPV4 protocol.
UNIT -1V
[llustrate the different Primitives used for transport service. Elaborate them.
OR
Explain in detail about each field of TCP segment header.
UNIT -V
Name the basic functions of E-Mail.
Write about TELNET.
OR
Discuss in detail about World Wide Web.

R18

Max.Marks: 60

2M
2M
2M
2M
M

10M

M
SM

10M

10M

SM
5M

10M

10M

10M

5M
M

10M
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Code: 18EC0413 R18
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)

B.Tech III Year I Semester (R18) Regular Examinations Feb/Mar 2021
Electronic Measurements and Instrumentation

(ECE)
Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following: (5 X 2 = 10 Marks) )
(a) What is Relative error? 2M
(b) What are the various probes of CRO? 2M
(c) List the types of AF Oscillators? 2M
(d) List out the advantages of bridge circuit 2M
(¢) What are the passive transducers? 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. Explain about static characteristics of measuring instrument. Define the terms in dynamic 10M
characteristics i) Speed of Response ii) Fidelity iii) Lag.
OR
3. (a) Explain the dynamic response ofan instrument. M
(b) Explain about multirange AC voltmeter. 5M
UNIT - II
4. Discuss about important CRT features. Draw the block diagram of a dual beam 10M
oscilloscope & explain its working.
OR
5. (a) Draw the block diagram of Delay line circuit and explainits working. SM
(b) With neat sketch explain about vertical amplifier. 5M
UNIT - 111
6. With the help of block diagram explain the functioning of a conventional standard signal 10M
generator. Write about fixed AF oscillator and variable AF oscillator.
OR
7. With a neat diagram discuss the operation of a puls¢ generator. 10M
UNIT - IV
8. Explain any Two ac bridges to measure unknown Inductance. 10M
OR
9. (a) Describe in detail about EMI &EMC with suitable examples. ' M
(b)  b) Explain the working principle & operation of Capacitance & Inductance bridge SM
circuit.
UNIT-V
10. (a) Draw the diagram of Resistance Thermometer & explain briefly. M
(b) Explain the operation of thermocouples and thermistors? SM
OR

11. Explain strain gauge for resistance measurement & its applications. LOM
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech 111 Year [ Semester (R18) Regular Examinations Feb/Mar 2021
Digital Communications
(ECE)
Max.Marks: 60
PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)

What are the differences between PCM and DPCM? M
Define matched filter 2M
What is geometric representation of signals? 2M

Compare the difference between coherent & non coherent binary modulation  2M
schemes

What are the coding techniques used for transmission of the digital data? M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain the delta modulation system with suitable diagrams? 10M
OR
Draw the following line codes for 101001110 5M
iyUnipolar RZ & NRZ i) polar RZ & NRZ. iii) Bipolar RZ &NRZ
What are the advantages & disadvantages of DPCM? 5M
UNIT - 11

Derive the cxpression for the Nyquist criterion for distortion less baseband 10M
transmission in the absence of noise in terms of time domain & Frequency domain.

OR
Explain duo-binary signaling scheme with one example? 10M
UNIT - IIT
Explain signal representation of a signal N=2and M=3? 5M
Derive the condition for Orthogonality for basis function? 5M
OR
Explain the geometrical representation of signals? 5M
With a neat sketch explain the working of correlation receiver 5M
UNIT - IV

Sketch with a neat diagram of M-array PSK transmitter and receiver? What is 10M
Bandwidth of BPSK, BFSK?
OR
Derive the probability of error for a coherent QPSK system? 5M
A binary data stream 101101100 is to be transmitted using DPSK. Determine the 5M
encoded and decoded output?
UNIT -V
The parity check matrix for a (7, 4) block code is given below 5M

11.

Lk 0 B
1 1 0 1 0 1 0fFindthe generate matrix G.
101 10 01

(b) Draw and explain the block diagram of ARQ system in detail? 5M
OR
For a systematic(7,4) lincar block code the sub matrix 10M
111
P = # w _w Detect and Correct the error using syndrome vector for the code
011

vectors A)Y, =([0111110]  B)Y, = [1011100] )Y, = [1010000]




